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1. (@) If n(A)=2, then find the value of n(P(A)). | 1
I n(A)=2=, (=@ n(P(A))I I s |

(b) What is the value of cot(~5m/4)? o 1
cot(-5m / 4) I W o= 2 | |

(c) Write z=1 in trigonometric form. 3! 1
z = i Gfba TR TacFIfrem S & |

(d) For which values of r, "C, ="P,? L 1

r-a WWW "o ="R.7

(e) If a, b, c are in AP, then are a\, b\ and c\ in AP? 1
I a, b, c APT WS, (OB a), bXWclﬁTﬁ'C?F?BTAPw

IRFCA 2

() What is the coefficient of x” in the expansion
of (1+x)*? ri {
(1+ x)"3 oo x™7 7= 1 232

(g) What is the gradient of the line -z- %: 1? 1

X, %AW&@WW?
a
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(2)

(h) Find the value of :

A R <
. tan3x
lim — 1
x>0 sinSx
(i) Mention the formula used to find SD. 1
o Rpfe e Iege st Sy 1 |
() What is the probability of getting two heads in tossing
a coin twice? 1

T4 <51 (AR TRTHATS 61 Y CW%T@—TW" \

2. (a) If n(A-B)=10, n(AnB)=5 and n(B-A)=20, then
find n(B) and n(Au B) 3
% n(A-B)=10, n(ANB)=5 WF n(B- A)=20 =, (3
n(B)s® n(Au B) g 51 1 |

() For any two sets A and B, prove any one of

the following : 3
R @I 1o ZfS A SF B AR e R ear @bt e 390
) (A-B)Nn(B-A)=¢
(i) A-BCc AUB_

3. Find the domain and range of the relation R={(a, b):a is

a multiple of b and a, be{l,2,3,4,5,6,7}}. 4
R={(a, b):a == b3 9b B9 9% a, be(l,2,3,4,5,6,7}}
TFROR e SF R Refm w41

4. Define a real function. Find the domain and range of
the real function f(x)=+2x-1. 1+3=4

AT FEE SRE@ 1 f(x) =+/2x -1 FOR AACF] WEF BT
Tfera |

Or / 911
Prove that the function f (x)=3x+2 is a bijective mapping. 4
oI T @ f (%) = 3x +2 FoHCOT o1 Fa-fTer |
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(3)

S. (a) For any two complex numbers z; and 2z,, prove that
R e 1ot s R4 z; AR 2,9 AR AN 4@ @

(i) |21 2z2|=12|"| 2]

(i) arg(zzp) =arg(z;) + arg(z;) 1%+1%=3
Or / 93t
Find the square root of 2x +(x2 —1)i. 3

2 +(x? —1)i &b SRATER 35+ Sferea |
(b) If (a+ib)(c +id) = x + iy, prove that
‘ Jvc2+y:2 _=(a2+b2)(02+d2) 3
I (a +ib)(c +id) = x + iy, (B 2T I @
x? +y?% =(a? +b?)(c? +d?)

6. By mathematical induction prove that

SIS SCIZ. AN 20T I |
1+3+5+7+--+(2n-1)=n? 4

7. Solve the inequation 5(2x-—3)s-§+1 and show the

solution set on the number line. | . 4
5(2x—3)$§+1 SHRNFIND YA A E TG O

SRYEAIS A7 97 |

8. (a) Prove any one of the following : - : 3
wors APt R cIear @bt o 390 ¢
) " lp +rx™lp,_, ="p,
] "o+ M, 5 ="HE,

2 + 3 PPN (S 1
L3 L4 n+1 In+1

— |
(1) 2 +
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(4)

(b) Answer either (i) or (ii) : -3
(i) S (i) I T& o

(i) In how many ways can 7 boys and 5 girls be arranged
in a row so that no two girls come together?

@A R AR G EF 7 T A AF 5 Tl
RAEIGISREI R SICRE 2 SIS (a1 B

(ii) How many triangles can be obtained when the vertices
of a hexagon are joined?

Toos bR MARER ikge R Aot fags e T2

9. (a) Find the term independent of x in the expansion
9
of (2x+—1—2) : ' 3
Sx _ -
. Ly
(2x+-5——2) 3 g7 x-7o7 < e |
X
(b) By using binomial theorem, find the value of 117. 3
e ot TIT TR 1173 T Sferean |

10. Answer either part (a) or part (b) : " 4
(a) S HAQ (b) Ti*19 T o o

(@) If the arithmetic and geometric means of two
positive. numbers are A and G respectively, then
show that A=2G.

WOl (IS SRYF R T FUGT MY T A WF G A (Y&
AAz2G. -

(b) Find the sum of any one of the following :
ool R} I GO TR Sferea ¢

(i) 5+55+ 555+ - up to n terms
(i) 1.1+2.3+3.5+4.7+-- up to n terms
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(5)

11. Prove (any two) : 2x2=4
o1 91 (R e qot) -
(i) tan70°=2tan50°+tan20°
(i) sinA+cosA= \/Ecos(45° - A)
(iii cos? Z + cos? S + cos? _5§n_ + cos? L 2
(iv) 16sin10°sin30°sin50°sin70°=1
12, Prove any one of the following : 4

Sod R (P @B1 &1 367

() cos=2N[2+V2+V(2+2)}]

| 32 2 .

(i) sin? A+sin? B+sin?C=2+2cosAcosBcosC

when (@A) A+B+C=n
4

13. Solve any one of the following :
wolq R I @Bt ST 40

(i) sin® +cos®=+2
(ii) tan® +cotf =2
14. (a) Find the equation of the line passing through the

points (1, 3) and (-2, —-1).
(1, 3)9 (-2, —1) R >RERICHER AN Sferean |

3
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(6)

() Find the equation of the line that passes through the"
point (g, g) and parallel to the line bx+ay+1=0. 3

(g 2)ﬁ’ﬂﬁﬁmex+ay+l 0 @¥R SEIE

QIR N9 Tfereq |

Or / Q=1

Find the .angle between the lines x-+/3y=2 and

ng—y=1.
x =3y =29F V3x -y =1 ETCER & &I Refq 741 1

15. Find the «centre and radius of the circle
x* 12 =6x +4y+8=0. Also find the equation of the

tangent to this circle at (1, — 3). 2+2=4

x2+y? -6x+4y+8=0 IOOR @T I e fefa ) A
TR (1, — 3) R =opfeq 1T Breq |

Or / g1

Find the equation of a parabola in the form y2 =4ax. 4

y? = 4ax ARPRS BT SRFER AN Bt |

16. Determine the points which trisect the line segment
joining the points (3, 0, 9) and (9, -6, 6). ' 4

(3,0, 9) WF (9, -6, 6) Rad WA RIGT IGS9O

2ot &g a1
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(7))

17. (a) Find the limit (any two) : 1%2x2=3
S e w1 (R e 1) - |

3 _
(i) lim —x2 27
x—>3 x“ -9

x—
(i) lim &1
x—0 sin2x

1-cos2x

(iii) lim -

x—0 X

x _ bx
(iv) lim
x—0 x

(b) Find the derivative w.r.t. x (any two) : 2x2=4
X-CACE R A GO TR e sy

(i) e* +xlogx
x+1

W -2

... |[1—cosx
1] 1/———
(i l+cosx

(iv) a* + x? + ax

18. What is the negation of the statement ‘x=y? Find the
truth value of the following : 1+1+1=3

‘) = iy’ SRSBR FpfT SRSl 1 7 Ao SfeRy somm RReT 11 :

) 2#5 and 6 <4
Dx5HFE6 <4

(i) 7>2 or 5<3’.
“7>2q5<3
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(8)

19. (a) Find the mean deviation from the mean of the °

frequency distribution given below : 6
e IR Reeeizd a3 M99 <[ e [Rpfs o w4
Class 0-10 | 1020 | 20-30 | 30-40 | 40-50 | 50-60
(i)
Frequency S 7 13 12 8 6
(IRH])
Or / J331

(b) For the following frequency distribution, calculate the
standard deviation (SD) :

oY JRIRO! IBPRA A T RS stemn 1

Class 0-10 10-20 | 20-30 3040 | 40-50
(%)
Frequency 10 12 25 17 9
(I<53IR©T)

20. Find the probability of getting exactly two heads in tossing
a fair coin four times. 4

e @1 @B PIRIR fewerre B 151 Yo iR et Refa 31

Or / 9«1

Find the probability of getting an odd difference in throwing
a die twice.

9Bl AP TR BLCHAT IR FAFNR SWIEA YA RYT AR
FEIfdel Sferear |

* & %
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PART—A / 31

( Indian Constitution at Work )

(Frfe TRem AR )

1. Answer the following as directed : 1x6=6

wore AR et iEml Ted fia

() Who was the President of the Constituent Assembly of
India?

S AR o/ Torifs (@ SNfRe 2

(b) India is a secular State.
( Write True or False )

ooy 3 GRICTF B |
(373 (1 =pTey ot )
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(2)

(c) Which Fundamental Rights enshrined in the Constitution of
India is regarded as the ‘Heart and Soul’ of the Constitution?

sRen Reme SRR @Rl (T Wi R e u
e’ e f[Hee s = 2

(d) Write a difference between General Rights and
Fundamental Rights.

YR HEFR AF (N SRR T GB1 N7 for |

(e) Which Article of the Constitution of India has given special
status to Jammu and Kashmir?

TSRO FRYFI (I S PR oY WF PR [ el 2w
91 (R ?

(f/ Mention one Ideal enshrined in the Preamble to the
Constitution of India.

TSRO FRYT 2REre A8 9o e TeEd F91

2. Write two functions of the Constitution. 2

SRR 751 R forn o

3. Mention two rights enshrined in the Article 19 of the
Constitution of India. |

SRET FRYFI > AR SRre AfHRE 151 WG SrEy 79 |

. 2
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(3)

4. What is Universal Adult Franchise? 2
ARG 2GR (SOEFR &F 2

5. Mention two features of Civil Services in India. 2

SRS] SRS TR Y61 (A8 Tray 1 |

6. What is State Finance Commission? 2

i e s 62

7. Write two characteristics of local government. 2

TN IR 761 CAPTES fern |

8. Mention three federal and one non-federal features of Indian
Federation. 3+1=4

SREY YAIEI b1 FoB o b1 SYEIPw (AFBy TeEy 4 |

9. Mention four functions of the Election Commission of India. 4

SrRres i scasE iR I SrE 41 |

10. Explain four functions of the Parliament of India. 4

SROH JeWR HIfRG1 T I A |
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(4)

11. Describe four instruments through which the Parliament
controls the Executive. 4

A IREAPR e 1 BIfGT =P 1 3941 |

12. Explain the procedure for amendment of the Constitution of
India. ‘ 4

SR RRYWT AN AT =i I /77 |

13. Discuss the emergency powers of the President of India. 6

SRS FFAfST SLATAIN FHOPIYRA R D 47 |

Or / 9=

Discuss the powers and functions of the Prime Minister of India. 6

SRS JYFIZR FIO] WF IS S 4] |

14. Explain the powers and functions of the Supreme Court of
India. 6

SRS BHoT FHERES Fo| HWE FROTA AT T |

Or / <1

Write a note on judicial activism in India. 6

SRoe WIRF JfFTeR 2o G G 3147 |
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(S)

PART—B / ¥—"¥I
( Political Theory )
(AT ©F )

15. Answer the following as directed : 1x6=6

(a) Who is the author of the book, Hind Swaraj?
B FIw R oS @2

(b) “Swaraj is our birth right and we shall have it.” Who said
this?

‘BTl HNE TATS FEFTH TFE N A A7—{E AMR 1”7 G201 &FRA
cfRe 2

(c) Right to life is a Civil Right/a Political Right/an Economic
Right.

( Choose the correct answer )

TR SffeR (r @bl A6iRe iR/ IMAReT  wideN /wftafes
TR |
( o Teach! A1 Sferean )

(d) Give an example of Human Rights.

V=1 SEFRI @01 Srrzad fra |

(e) Who wrote the book, The Flowers of Hiroshima?

‘M TR o) B awdd @i FRiRe 2

() Who is associated with Narmada Bachao Andolan?
T IB18 AR A (FIH TGS ?
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16.

17.

18.

19.

20.

21.

22.

23.

24.

(6)

What is politics?

IS F 2

Mention two means of safeguarding liberty.
TR THR 151 Tom Tray 41 |

Write two Economic Rights.
101 ST wfawr o |

Mention two qualities of a good citizen.

SRR 751 @ SR 9 |

Mention two forms of structural violence.
72 2RPRA siifere ReTR Sray 91 |

Write two features of development.

fRereI= o1 Cafey foran o

Explain the necessity of studying political theory.

AN TG HYHA ATATIATS] FI] T4 |

Write a note on Political Justice.

JSLANSF T @HIS AT (GBI 3127 |

Explain about Legal Rights.
SRS HEPR T AR 91 |
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(7))

25. Discuss about global citizenship. 4
feg=aiferes fRacy SiceTo 391 |
26. Mcntion four factors contributing to the growth of nationalism. 4

STeNoRMA RFMe sif¥zd SsReeE St FeF Srad 411

27. Explain various dimensions of social justice. 6
e R )fen frfea < 4 |
Or / 941
Explain Rawls’ theory of justice. 6
GETRI I SGCO! A 41 |
28. What is secularism? Explain four features of secularism. 6

gffFReerrorm & 2 ydErerseorm BIfReT ¢ =0 41 |
Or / JYqt

Discuss the Indian model of secularism. 6

SR 3R g [eorFerRMR REc S 410 |

* % &
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